202449H

A N 7K PN F + =]
1

FHIZ
g2

2 3 4 5 6 7 8
Fhiz | E | BHRE) = TZEE & E HREER)| RE  BRE) DNz
Fis IR E | BHR((E) & & | BHR(E)

9 10 11 12 13 14 15
Fhiz | RE | BHREE) P Eog=y=1 & R |ARER)| RE BAREE)
Fis IR E | BHR((E) & & | BHR(E)

16 17 18 19 20 21 22
FHIZ & & & R |HBPE)| RE BRE)
g2 RE | BHR((E) = | HR(E)

23 24 25 26 27 28 29
Fhi & ZEE & frR |HPE)| RE BRE) LA
g2 TE | BHR(E) & E | BR((E)

30
Faiz | RRE | BAREE)
g2 =

* PR BERBAEL P iPAIRl/ IBTSES R

* EARH

Hf(R) E&

HPER. REPEEL. WUAER. HERIRER. MERER




